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Part- | (01-50)

1. Choose the option that has a misspelled word.
A) Adaptive B) Accomodation
C) Severity D) Prediction

2 . Choose the correct option to complete the sentence.

To Anne was on time for her Math class.
A) everybody's surprise B) every body'’s surprise
C) everybodys surprise D) everybodys’ surprise

3. Choose the correct option.
Being so close to the Atlantic, the weather in Ireland is quite changeable and very

A) predictably B) predicative
C) unpredictable D) nonpredictable

4 . Choose the correct option to complete the sentence.

[ live in small town. town is near large city.
A) a, The, a B) no article, A, the
Q) a, A, the D) the, The, the

5. Bimala gets up at 4.30 in the morning every day. This sentence is in:
A) Simple Present Tense B) Present Continuous Tense

C) Present Perfect Tense D) Present Perfect Continuous Tense

6 . What type of a sentence is the following?
Oh Dear! The tree is falling.

A) Declarative B) Interrogative

C) Exclamatory D) Imperative

7 . Choose the correct word from the options given to fill in the blank.

The was willing to look over my brother who was suffering from severe mental
trauma.

A) psychiatrist B) sychiatrist

C) sichiatrist D) psyciatrist

Page 2 of 37



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

8 . Fill in the blanks with the appropriate option given below:
Ring of Fire is enormous chain of volcanoes all around Pacific Ocean.

A) A an, the

B) The, the, no article required

C) No article required, the, no article required
D) The, an, the

9. Fill in the blank with the correct tense form of the word "buy":

This house was by an entrepreneur.
A) buys B) buyed
C) brought D) bought

10 . Choose the option that is an antonym of the word in capitals:
The boy is PUNISHED and so cannot go out to play with his friends.

A) Encouraged B) Beaten
C) Defended D) Overcome

11 Fofafed & § H1F-3 sHenfa ufdm e &1 {909 T § SR Sl T 82 /

Which of the following tribes is a particularly vulnerable tribal group of West Bengal?
A) €Il / Toto B) 3{I_Tt / Onges
C) g (HierT) / Buksa D) T / Riang

12 ﬁ%&gﬁﬁg-zozomn@awmmmaﬁawwmﬁﬁmmﬁ
2/

The committee for formulating the draft of the National Education Policy-2020 was headed
by which of the following eminent personalities?

A) fSTd SITE / Bimal Jalan B) Il. RIS / C. Rangarajan
@) TSI AT / Raja Chelliah D) . WT"FI/ K. Kasturirangan

13 . 2023 B Bl [be Sitar? /
Who won 2023 Snooker final?

A) deT S / Luca Brecel B) X1 3{Igfera / Ronnie O'Sullivan
C) 1S ¢ / Judd Trump D) HTeh Jedit / Mark Selby
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14 . 2019-315{7 TRIBR YT T2 TSR by T faen | Tefia g2/

Sonia Lather, the 2019-Arjuna Award recipient belongs to which sports discipline?

A) e / Tennis B) fA=mAaTStt / Shooting
C) gadbaTel / Boxing D) ¢dd ¢ / Table Tennis

15 . g0 (el YeReie (Sxysss) & TIY TT8-30 - dTal Ugal HRIg Afgar & &tz /

Who was the first Indian woman to sign with World Wrestling Entertainment (WWE) ?

A) BT &l / Kavita Devi B) fa==1 BITIC / Vinesh Phogat
C) 7fIdT BINTIE / Geeta Phogat D) reft Afeieb / Sakshi Malik

16 . frgfafad & I fod 3fid 2020 # PETA GRT BRI ¢ THHQT RIGR § TwHIfd favar mam? /

Who amongst the following was conferred the 'Hero to Animals' award by PETA in

April 20207
A) &S 2uroll / Vijay Rupani B) HdI- UcHII® / Naveen Patnaik
O 3Rfdg HoRiara / Arvind Kejriwal D) cdS UE:I?ﬂW/ Devendra Fadnavis

17 . BITYRH W Hlcad P oiid UiH! e Tex FHafred & 9 foa Ay Samrt o1 fgwn g2 /
The West Coast Canal between Kottapuram to Kollam is a part of which of the following
National Waterways?

A) @A WR&AT-13 / National Waterway No-13
B) SICTHT] W&AT-3 / National Waterway No-3

@) ST WR&AT-39 / National Waterway No-39
D) SICTHTT TR&AT-30 / National Waterway No-30

18 . HRd &1 UGSl Sil3MTs 71 IdIG HH-H1 87 /
Which is the 1% Gl tag product in India?

A) BT RN / Kani Shawl B) qIfSIfeiT a1 / Darjeeling Tea
C) HYHRY U=RHHT / Kashmir Pashmina D) H8H-IY T / Kadaknath Murga

19 . 447 Ayt Tdeq Hfafaw, 1978 gRT 1 3AfIBR Mferd USRI T ger fear

T Tl /

The Right to was removed from Fundamental Rights by the 44"
Constitutional Amendment Act, 1978.
A) FR1&T / Education B) ¥HMT / Equality
C) YUl / Property D) ¢ / Religion
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20 . o o1 &t IUAfRAT o1 IHH! AT A ATID T FRIaaa § g fasar 412 /

The achievements of which king was recorded by his mother in the Nasik cave inscription?

A) TMaHTgs A uff / Gautamiputra Satakarni

B) ¥Ige / Simuka
@) QWW/ Cheran Chenkuttuvan
D) sﬂ?\fuam/ Harihara |
21.T% I Pl 308 IUT T oo W, fa1g Y 28 TUT HT ATY Bl ¢ | ITHT aH Ufa=rd I
B | /
By selling an article for Rs. 308, Vinod gains Rs. 28. Find his gain percentage.
A) 10% B) 8%
Q) 7% D) 12%
22 . frafafad & qu 9uidTe &7 31&R I1d BN | / Find the missing alphabet.
B | e | w
G | M
Y
A)P B)S
OM D)T

23 . W IBAT DR mﬁ%ﬁﬁml / Complete the series choosing the missing number.
4,15, _ ,103, 180.

A) 48 B) 47
C) 46 D) 49

24 .3 € IS ya B Sesft &1 U 3 a1 TR § | JEIuR TAd S B UgdH Hifog| /
The series given below contains a sequence of numbers. Accordingly identify the
INCORRECT number.

9, 14, 24, 38, 59

A) 2 B) 38
Q) 14 D) 59

25 . TP ¢ 105 fordll/der &) ara @ et g1 78 20 firFe # faram ex ot gt q@ wfz /

A train travels 105 km/hr. How many meters will it travel in 20 minutes?
A) 32,000 HIcX / 32,000 meters B) 30,000 HIe / 30,000 meters
C) 29,000 HITX / 29,000 meters D) 35,000 HIe / 35,000 meters
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26 . TH ¢ U IRATAD a1d o 2/3 TR AT B et AT 3R 2 °e¢ & 400 fedt Tait | ¢ Bt
grdides ard (fbHl/Eic H) JTd PITTI / A train was travelling at 2/3 its actual speed and

covered 400 km in 2 hrs. Find the full speed (in km/hr) of the train.
A) 300 B) 400
C) 800 D) 200

27 . A, B 3R ¢ firaier ufafeT 1300 00 ATA & fSoras 9 A 3R ¢ firdiex 935 3UT T4 B 3R C

TR 945 ¥UA FAM &1 C B &P HHTS fobat 82 /
The combined earning of A, B and C is Rs. 1300 per day, while A and C together earn Rs. 935
and B and C together earns Rs. 945. Calculate the daily earning of C.

A) 540 T / Rs. 540 B) 560 ¥UY / Rs. 560
C) 570 ¥TU / Rs. 570 D) 580 ¥UY / Rs. 580

28 . U I DR Wﬁwm | / Complete the series choosing the missing

number.
21, 26, 36, 56, 96, .

A) 176 B) 112
Q) 110 D) 183

29 . GFRIG 3R dHCR &1 aetHT AT HT SUIT 4 : 5 51 12 T &G Tg ST 5 : 6 Bl S|
319 ¥ 6 I9 qTg GRS &1 311 fat grift? /

The present age of Muniraju and Venkatesh is in the ratio of 4: 5. After 12 years this
ratio will become 5 : 6. What will be the age of Muniraju 6 years from now?

A) 48 Iy / 48 years B) 58 Y / 58 years
C) 54 a9 / 54 years D) 50 @Y / 50 years

30 . fafaRea & g qufdTen &1 3i&R F1d BV | / Find the missing alphabet.

A) S B) M
oL D) X
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31 . 3 fgadl &1 A1 Ad 4 : 7 & U H 81 IS UA® & 9d- H 25 U8 Pt gfg 8l 5, <t
3fUTd 3 : 5 B §&d STl 5| 3 § Ugd I e I I B | /
The monthly salaries of two persons are in the ratio of 4 : 7. If each receive an increase of Rs.
25 in the salary, the ratio is altered to 3 : 5. Find their respective salaries before the increase.

A) 120 3T 3R 210 TY / Rs. 120 and Rs. 210
B) 80 ¥UY 3R 140 TTY / Rs. 80 and Rs. 140

C) 180 ST 3iR 300 TYY / Rs. 180 and Rs. 300
D) 200 TTY 31X 350 FUT / Rs. 200 and Rs. 350

32 . e & 2 e § Semell &1 Ue i a1 1 8 | dGIaR Ierd IReAT &I UgaH Bt | /
The series given below contains a sequence of numbers. Accordingly identify the INCORRECT
number.

80, 70, 75, 75, 85, 80, 65

A) 80 B) 85
Q)75 D) 70

33 . TP 3R T DT 3R HHTT: 8 : 4 B AU A § 3R I Y HT AT 60 a9 81 8 IS aIG
D! ST BT HH: ST T BI7? /
The ages of Rakesh and Suresh are in the ratio 8 : 4 respectively and the sum of their ages is
60 years. What will be the respective ratio of their ages after 8 years?

A)7:12 B)14:9
Q12:7 D)9:14

34 . Ud QBT H UIHAR & SHIRa- 450 3R 37 fel & 350 SFigd 3M1d § | IR I YR
B aral 30 faA & WEH o ufa o Simigen! @t Sfird TRed g1/

A library has an average of 450 visitors on Monday and 350 on other days. The average
number of visitors per day in a month of 30 days beginning with Monday is

A) 360 B) 365
Q) 367 D) 375

35 . fopadt AT 4RI B 8% & 15% BT 10%, 432 TU 1 4RI RT]? /

10% of 15% of 8% of an amount is Rs. 432. What is the amount?
A) T 3,50,000 B) ¥ 3,60,000
C) ¥ 3,40,000 D) ¥ 3,30,000
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36. T AT PISH5778P 6687 H TUH R TSI ST DIS T 7 5 4 3 B 7 foran
STTm? /

In a certain code 57 7 8 is written as 6 6 8 7. How will 7 5 4 3 be written in the same code?
A)4582 B)8254
C)8452 D)5842

37. G[&Iﬁ%ﬂﬁ@ﬂ 3{&R DI T BITTI / Find the missing letter in the sequence of letters.
A, B, DG, _,PV

AN B) M
OK D) L

38 . Fgfafad THierur & dgfed & & fau -8 fawed &1y fear s /

Which options will be used to balance the following equation?

84 12 4 3=0
A+, -8R« /+ -and < B) +, - 3R -/+, -and -
C)—,+\3ﬁT—/-,+and- D)+,+3ﬁT+/+,+and+

39 . 39 U BT T B3 ol 3 o [dbedl I T B
WUTR, FIOR, FIIATGER, UIHR, SHfa /

Select the one which is different from the other four alternatives.
Stapler, Eraser, Highlighter, Marker, Dustbin

A) LR / Stapler B) W/ Marker
C) BIgdgcY / Highlighter D) §¥¢faH / Dustbin

40 . TSfPal o) T Ufed H IaH St a1 § 1391 8, 31U ™I I T F6d ddt 8 ot e F 15dT
2 ITHT 3E 10 ¥ 127 WF WR g | Ufed # fvait arsfeai g2 /
In a row of girls, Salma who is 13™ from the left interchanges her position with Salima who
15™ from the right. Salma now stands 12" from left. How many girls are there in the row?

A) 25 B) 26
Q27 D) 28

41 .3 T Y 5 ol & &9 G BT g faba 1SUT IO Fa? /

How many angles will trace by the hour hand between 3 O’ clock to 5 O’ clock?
A) 40° B) 50°
C) 45° D) 60°
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42 . 3T U {3 3T ARoR = 3! 3=t 2t 7 e g} fvan 8, dfe et A &1
AT AT g1 3 o’ e /

You realized that your manager has not invited you to his wedding but has invited the rest
of the team. What would you do?

A) GURIE B I8 e frdl ot aRg I Wi o fos =g a8 Yo T g/
Attend the ceremony anyways thinking that he might have missed you out.

B) 39 FIAT® g¥ TW | / Hold grudge against him.
C) TH & 31T Tal ¥ 3! 1l | AT 9 8 o faw Hgdl | /

Ask other team members not to attend his wedding.

D) 3 37U YYBHTHEATE Ui | / Send him your best wishes.

43 1 U T GHeU Dl P DR b fOIU # o RIF W gl & G4g BT a4 X | /

Select the set of sign by replacing # to satisfy the equation below.
85#17#3#T7#6#20

A)x ==+ - B) + x = -+
O ++x-= D)=-x+ +

44 TfE BLQSJDW BT BIE DISPLAY &, df NUMMCFR &1 ®lg R 87 /
If the code of BLQSJDW is DISPLAY, then what is the code of NUMMCFR?

A) TECTPRO B) PROJECT
C) CTPROIJE D) PROJETC

45 .24 91d & $ fba AU I8 BId 87/

How many leap years are there in a period of 24 years?
A) 6 B) 10
Q7 D) 4

46 . 9 P U &, Q "UNT &Y, R WS’ &I 3R S "UeTa Y giar g ot
(5P2)R(12Q4)R(1R2)R(2S1) EETIIT:[?RT[%? /
If P denotes 'Multiplication’, Q denotes 'Division’, R denotes 'Addition’ and S denotes
'Subtraction’, then what is the value of (5P2)R(12Q4)R(1R2)R(251)?

A) 21 B)5
Q) 17 D) 8
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47 . 38 9 fq9H &1 gHu|
A : Hig, UIST: SRAdd, HPSI: SITeT, HYHRG : TRIe /
Choose the odd one out.
Lion: Den, Horse : Stable, Spider : Web, Bee : Nest

A) Eﬁ@T 3HIddeT / Horse : Stable B) uﬁ WIIell / Spider : Web
C) AYHSE! : Ul / Bee : Nest D) ¥R : Hig / Lion : Den

48 . Ffoafed Temsi 7 ¥ Ted BId iR Jad 93! -1 & G 3F & &I o1 3R J1d HIFTT |/
Find the difference between the second digit of the lowest and highest of following numbers.
456, 738, 254, 308, 657, 834, 983, 964

A) 4 B) 5
02 D) 3

49 . T YT BIg H, EXTINGUISHER &1 TXEGNISIUREH forRaT SITdT 8, Y I3t s |

COLUMN 1 o1 ferar Simaem? /
In a certain code EXTINGUISHER is written as TXEGNISIUREH. How COLUMN will be

written in the same code?
A) LOCNMU B) NOLCUM
C) LUMNCO D) MULNOC

50 . fpeft TR & 6 T & F 10 UM W 32 UK §idl o | 98 S J1d Hiforg | /

10 is taken away from 6 times of a number is 32. Find the number.
A7 B) 9
Q4 D)5
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Part- 1l (51-150)

51 . 319 AR H ISP T (e T & forg fred o aRaa # & /

Crystal radii for noble gases in the solid state are actually:
A) dTexald 41 / Vander Waals radii ~ B) 30H-fggd &1 / lon-dipole force
@) 6I$_§§ oI+ HId=- / Hydrogen bonding D) 3 3HTE=A / lonic bond

52 . NH,CONH, [ STai-d AT &1 I 37 87 /

NH>CONH; is the chemical formula of which organic compound?
A) 3HIfAAT / Ammonia B) TRAT / Urea
@) fraqms—rr/ Methenamine D) 1:hﬂ=ﬁ:r/ Propanone

53 . X 3R Y & &I Th Hfifeha, X § 3/2 B SR Y T -1 BIfe BT 1 K B SHIS J1d PITI /

A reaction between X and Y is 3/2 order in X and -1 in Y. Find the units of K.
A) mol2dm®min’’ B) mol'dm*?min’’

C) mol?dm*?min"" D) mol?dm>min’"

54 . FARIPTSH, SId AT df ! g HRUil § fosffd Ha & /

Fluorocarbons repel water or oil due to:

A) G| Uy ddld / Low surface tension

B) 3= U§ d-1d / High surface tension

C) g Imaf@ fRRRET / Low chemical stability

D) 1% SNId® RRAT / Low thermodynamic stability

55 . A HicH WSAT (n) & QT T A o T gddaeHl & o= @-exH) & f$Ut 9 g d gt /
For a given value of n (principal quantum number) degree of penetration of electrons will
decrease in the order:

A) s>p>d>f B) f>d>s>p
C) p>d>f>s D) d>f>p>s

56 . TR, T T Uied SHoll TR J GER Holl WR TR SAGSI! Bt aTgw & HRUT SR Y73l
¥ fers <t 8:/
Due to the returning of electrons from 3™, 4™ or 5™ energy levels to the 2" energy level
Balmer series appears in the:

A) -8 / Visible-region B) RIS / Ultraviolet
C) Mde-31avad / Near-infrared D) gg3-3favad / Far-infrared
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57.36 T H,0H ___ HIdH,0 BT 8/8d 81 /
36 gms of H>O contains moles of H,0.
A) 1 B) 2
03 D) 4

58 . Ueb faemlf gRT sraman a1 fob aroe 7 9fs o fore e siftifesan &1 e o gfs gt
1 I 30 U P TG 35 & g Fafeiad sru ferg, fd 9 9+ w81 78T &1
|. I8 TUE B TS H 3G & HRU G|
II. SHHT HRUT AT God U BIT g1 5 |
IIl. SHPHT HRUT leha TS FT T & HH 5
Iv. T R & e H 9fg & PRUT ST 81
TTAd BYH/BYH! BT T DI /

It was stated by a student that there is an increase in the rate of a chemical reaction for
a temperature rise. He wrote the following reasons to justify his statement, but all of
them are NOT correct.

. It is due to an increase in the number of collisions.

Il. It is due to the shortening of mean free path.

[Il. It is due to decrease in the number of activated molecules.
IV. It is due to increase in the pressure of the system.

Choose the INCORRECT statement(s).

A) Had |/ Only | B) 11 3R 111 / 11 and I
Q) 1, 11, 3R IV /1, 11, and 1V D) I, 111 3R IV / 11, 111 and 1V

59 . foeR & a0 & TR, SaRNWUN® 6y IHhIs & SIHHIU 87 /

According to Beer's Law, absorbance is directly proportional to which entity?

A) TigdT / Intensity B) &AW / Area
C) HI=dTl / Concentration D) dIYHIT / Temperature

60 . TANTRITA H TR TUH HTe-d AT 8 AHd SidbTe-e Tard J giear ot /

The first organic compound synthesized in the lab was urea from an inorganic material
named:

A) AR 3ffeITee / Ammonium oxalate
B) ?ﬁﬁﬁf{?ﬁ/ Chloromethane

@) fraqms:{/ Methenamine
D) 3HIfTH I™HT / Ammonium cyanate
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61 . AUGGH (YHIHUS) ST Fafo g I fearma g: /

Thermocouples have been constructed from:

A) TIfSTH / Sodium

B) hiHdl/ TegHd, 10-13% RAfead /
Chromel/ Alumel, 10-13% Rhodium

C) U1/ / Potassium

D) ATSTH / Rhodium

62 . TauRia 3w arat Al & dtar STHH0T & RRAGYd 9t o AfMferd o3 aral faaras &
T e A &1 fJue: /

The dissolution of an ionic compound in a solvent involving the electrostatic forces of
attraction between oppositely charged ions must be:

A) &H BT AT / Reduced
B) ST ST A1f8T! / Increased
C) GHM BT T1f8WI / Same

D) ®H Hilaquim g A1 / Having low dielectric constant

63 . &I Y13t & XaH WaeH & WY & fore FufaRad & ¥ fow Sgem oF &1 Sudi fear
ST AT 62 /

Which of the following detection systems can be used for the detection of line spectra of
alkali metals?

A) USHTY I e / Photoconductive cell
B) Jiec g I / Voltaic cell
Q) UhIdiee i Id / Photovoltaic cell

D) AT Hdg-IRITd UHRAUS (X8 ARIed Bl IWRR) /

Red sensitive photomultipliers
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64 . TR DI TIfomaT T IUTNT ST & Srf~an 3 fmfor & faman smar 71 afe rmafie sififsrar &
AP H, 3R N, F 45 THex BT ITANT a1 711 31R 60%, NH; U g3 3fd & Sifiifsrar fem
# IuRYd YD T & Hued o1 T Sifoe (gt fRufaar srfafd wgdt 8) 1 /
Haber's process is used in the manufacturing of ammonia in industries. If 45 litres of each H>
and N were used in the chemical reaction and 60% of the NHs was yielded, calculate the
composition of each of the gases present in the reaction system at the end (all conditions
remain unchanged).

A) 30 e IR, 10 offer A18IeH, 30 ©ieR gIRgISH /
30 litres ammonia, 10 litres nitrogen, 30 litres hydrogen
B) 20 Tfex I, 25 Tiex ATSeior, 15 Tl gIggior /
20 litres ammonia, 25 litres nitrogen, 15 litres hydrogen
C) 36 e M, 20 e ATZCIoH, 18 dieR gIgsioA /
36 litres ammonia, 20 litres nitrogen, 18 litres hydrogen
D) 18 ffeRr AT, 36 ¢fiex AZcloH, 18 dieR grRgo /
18 litres ammonia, 36 litres nitrogen, 18 litres hydrogen

65 . SI-sTTell Yy 9§, T sy FAeperan g fob: 2
|. TR <& &b St-STell galare i< 1 e el A=

I1. 38 SfHT 3R Wb UHIEa! & SradicsT 9 UTed fosam Ty ol

III. 53 SEx BT T Th JUi URHHU H T aTel SI-STa axill bl I AT = 5
o . . . h

V. TP SR 1 S-STel 81 e, favaieR V = ——— g1 form @ ke

SRIgd § J HH-T1/2 Y Tg! 8/8?2 /

From de-Broglie relationship, it was concluded that:

d
L. K. E. of a de-Broglie electron of wavelength i = zh 7

Il It was derived from the observations of Zeeman an;:d Stark effects

M. Mo. of de-Broglie waves formed in one complete revolution in 5th Bohr's orbit= 5

V. de-Broglie wavelength of an electron, accelerated from rest, by a potential
difference V = —

vimeV

Which of the above statement (s) is/are correct?

A1 L, SR IV /1, 1, and 1V B) %ad |1 / Only II
C) Had IV / Only IV D) I 3R IV/ 1 and IV
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66 . FUffad 7 ¥ -1 Bree 3w faeifia & =0 § Brf a1 g ol W fderg & faw

HTTD §7 /

Which among the following organic acids act as a vitamin that is essential for healthy growth?
A) TDIA® 3T / Gluconic acid B) THT(Edh 3T / Aspartic acid

C) T&hITadh 3 / Ascorbic acid D) SISt (R TRFS) / Cinnamic acid

67 . THM AT THg! & 1Y & faf g A 8 /

Cation exchange resins with similar ionogenic groups are:

A) W‘Fﬂ:{ / Tertiary amine

B) ﬂﬂﬂf‘c\]ﬁ SEIH &R / Quaternary ammonium bases
@) EI@WWW &R / Quaternary sulphonium bases
D) UTf¥eh THIH / Primary amine

68 .1 Wﬁﬁ'ﬁﬁ?ﬁ?ﬁﬁﬂﬁ?@ﬁ%”/ How many protons weigh 1 gram?

A) 1.67 x 102 B) 6.022 x 10%
010 D) 1

69 . H.0 30l & 1 A & forg Wt faswred dH1-11 82 /
Which is the CORRECT option for 1 mole of H,O molecule?

A) TTH 6.023 x 102 AT B &1 / Has 6.023 x 102 molecules

B) 3TH 1 A Wﬁ?maﬁ%l / Has 1 mol of oxygen atoms

C) T9H 2 x 6.023 x 102 H TRATY 81 § | / Has 2 x 6.023 x 102 H atoms
D) B'CPEIEH Ut / All of these

70 . e THifes 3na UshH fhd o1 BT UM St 82 /

Cativa Acetic Acid Process uses which metal?

A) ZRFETH / Iridium B) AfSTH / Rhodium
C) W= / Platinum D) fS1p =T / Zirconium

71. 0.3 A1 KCI 3R 0.6 A K-S0, P I B =t Trad ot U1 BT | /

Calculate the ionic strength of a solution of 0.3 molal KCl and 0.6 molal K>SOa,

A) 0.5 B) 1.5
Q) 2.52 D) 2.1
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72.%mmmﬁwmﬁm%,@ﬁﬁ"ﬁﬁﬁﬂﬁﬁ%m"mmmm
Mg/

Urea is relatively quickly metabolized, so “controlled release fertilizers” have been developed by:

A) SR Hrafde & FHfor/ Forming ammonium carbamate

B) ?{[ﬁ'CITtIT AT & AU / Ammonia coating of urea

@) WWWHTW%W/ Sulphur or polymer-coating of urea
D) gRAT & feheelIdhRUT / Crystallizing urea

73 . oM @ oo & IR § Faffed & 9 -9 sy a @ 87 /

Which of the following statements is TRUE about swelling of resins?

A) SIZAEAd doii- @ 3= AT, IoH & 3= Hee &1 HRUT & gt gl /
High content of divinyl benzene can cause high swelling of resin.

B) fadeuaor (sprafeifds) # w4t 81 St 8, oo § 3fg 8 Sl 81/
Crosslinking on decreases, increases swelling.

C) STZATEd S Bt 3= AET & RO Head § ST 3T g1/
High content of divinyl benzene causes decrease in swelling.

D) STEATSHd doii- &1 & AT ead § gfg HRdl gl /

Low content of divinyl benzene increases swelling.

74gzg%@ﬂﬁéﬁ-mWWxawmwﬁéammwwmﬁam%?
:x>0) /

Which of the following wave functions can be the solution of Schrodinger equation for
all values of X? (Note: x>0)

A)py= Asecx B) w=A tanx
Oy = Ae* D)y = Ae ¥

75 . TR TTHAT GRT ST & T H, IERE & & H Fe BT fobariiard H,S &t Sufufa
Y9 B I B 1 39 R, Hos 1 UeR S aRar 8/
In the synthesis of ammonia by Haber's process, the activity of Fe as a catalyst is
destroyed by the presence of H:S. In this reaction, H.S acts as:

A) SRS TP / Catalytic promoter B) SAR® Wlehdd / Catalytic activator
C) IoR® fa¥ / Catalytic poison D) S®R® URYS / Catalytic initiator
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76 . FEfIRad & A SH-91 3 &1 TR JURED! I gTs-URR faifebs sidcrmpt
(Tathuerfl) doie & Geiftrd T8 37 /
Which among the following is NOT related to the High-Pressure Liquid
Chromatography (HPLC) technique?

A) @'Cﬂww'”ﬁﬁﬁl?ﬁ%l / HPLC is done in columns

B) A1 e TSI 81/ The technique is highly sensitive

C) U1 IUTNT SITSH F oA TR F AT FufRor § fosar srar g1 /
It is used in the Quantitative determination of plasma levels of drugs

D) 30 URumH} & forg arae fRR 81 sawas 8 g1 /

Temperature need not be constant for consistent results

77 . CO, ¥ 6.023 x 10?2 {U[37} BT GHHM BIAT 8 /
Mass of 6.023 x 10?2 molecules of CO: is:

A) 44 UM [ 44 g B)44UH/449
C) 440 TH / 440 g D) 378 T PIs sl / None of these

78 . feun mar sieka A9 & gIfar 3: / The given graph represents:

Maximum when
reaction is complete

P e T O g W
3iftrpayg

Reaction rate

Time

A) BUMHS ISR/ Negative Catalysis  B) UHT&® SGRUT/ Positive Catalysis
C) Wd: IGRUT/ Auto Catalysis D) URd AR / Induced Catalysis
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79 . ThHUT dedl P eI 3R HUFID I 8ld & TP ITH (Y BT IUTNT B P &HdT Bl 8- /

Transition elements have high melting and boiling points due to their ability to use:

A) HTfA® 3TERA & T (n-1)d 3R ns GHI Saiae /
Both (n-1)d and ns electrons for metallic bonding
B) ¥Tfcdd 3Ta= o fold Hadl (n-1)d Sl /
Only (n-1)d electrons for metallic bonding
C) UTfdep 3MTa=A o feIU had ns S /
Only ns electrons for metallic bonding
D) ¥Tfdd® ST&=M & T (n-1)f 3R np g Saiae /

Both (n-1)f and np electrons for metallic bonding

80. B~ IS H ATMNG & HidR e &1 UieH H TR0l YR 8idT §: /
In B~ emission the transformation of a neutron to a proton within the nucleus, takes
place according to:

An—-p"+p +v Blp+ B +v

Qe —-p+n+yv D)B—p* +v

81 . T faendf 3 7 ver wreufe Imafae sififear ¢ + 0, — 2cp 3t ifvfsan foranfafdy
foredt- aifiyfopan fopanfafy & TR ST TSR §: TR 1: G ~C + C (g BN =R 2: ¢ +
D>— CD + D (He AfYHfHan=R 3: C + D — CD (ciid ifHforam
Pa AfUfeaT & B9 B TUFET BT/

A student wrote the reaction mechanism of a hypothetical chemical reaction, & + D>— 2CD
below: / The steps of reaction mechanism are: Step 1: > =C + C (Fast Reaction) Step 2: C +
D> — CD + D (Slow Reaction) Step 3: C + D — CD (Fast reaction)

Calculate the order of overall reaction.

A) ] / Zero B) 3¢ (U 3MR 37T / One and half
C) 14T / Half D) &l / Two
82 . TegHif-1o enfies § Safds SR § U Al g1/
Aluminium is metallic whereas boron is a typical:
A) 3YUTJ / Non-metal B) YTd / Metal
C) Upfa & IHgYHf / D) gaa® /
Amphoteric in nature Good conductor
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83 . afiRad # I HH-11 SRRV gHAT I ifar § fab 500C WR RiferepT Sid W ofefi=
DT BHIRABT TG BT &7 (ﬁm%ﬁ Amount absorbed = (RN AT, Pressure =
<dId) /

Which of the following adsorption isotherm shows that there is capillary condensation
of benzene on silica gel at 50°C?

] 1
i B |
3 1 ) 3 !
£ 1 £ !
2 1 2 |
4 . 3 !
- 1 - I
S : £ '
g I g |
1 1
< 1 < |
1 1
1 1
Pressure Po Pressure Po
1
1
3 1 3
2 I £
2 I 2
E ! 4
- 1 -
£ ' =
3 3
£ ' £
1
< | <
1
|
Pressure Po Pressure Po

84 . HICH B ToIdT $GA & Uga Y & ATH ddzy | /

Name the first member of homologous series of the ketone.

A) S|ETS] / Propanal B) mﬁ=h=r/ Propanone
@) Eh'a:[/ Propane D) IS RIEED {1 / Propionic acid

85 . 3ARVel BTN quiAaP! (SATST TR HIHCUTH) & Iamas ¥ oI Iuffd &
PHRU A Pt IR AT/

The solvent in descending paper chromatography moves down due to the presence of

force.
A) EIREIR] / nuclear B) WGTUT / gravitational
C) IO / frictional D) HHMI / spring

86 . fAufoiad & @ &H-a1 TRife s sa #1872 /

Which among the following is the formula of acetic acid?
A) CH:CHO B) CHsCOCH;3
C) CHsCOOH D) CH3COOOH
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87 . Fufafad 7 @ -3 v aififshar Frara= sifyfssar &1 g 82 /

Which one of the following reactions represents a calcination reaction?
A) HgS + Oy ----- > Hg + SO» B) AgNO 3 + NaCl ----> AgCl + NaNOs
C) CuCOs Cu(OH); ----> CuO + CO; + H,0O D) Al,O3 +NaOH ----> NaAlO; + H,O

88 . 91§ TRIfETH @ H.S04 3R HgSO, o 1Y 3ifNfehar &xal g df FufaRed & ¥ ®F-91 Sdrg
§9d18? / Which of the following products is formed when acetylene reacts with dilute
HzSO4 and HgSO4?

A) Q’%@'I’s{“&'/ Aldehydes B) El’ﬂ'cﬁ:[/ Ketones
C) 3fehigd / Alcohols D) FaifaIfeids 3 / Carboxylic acids

89 . T ATd-T1H Tt g} 1 Aeft & Trens @ Tele STEURRIZS arsy 3R aaliii- & fHgor &
TIRA FReb U BIEHSD [aaTdes ST STl ¢ | faemdes &1 A Jarsy| /
An organic solvent is made by passing a mixture of carbon disulfide vapor and chlorine
through a red-hot porcelain tube. Name the solvent.

A) CHCl3 B) CH2Cl>
C) CCly D) CHsCl
90. 3qUfega e AguGH PRaATR !/
Fuel on incomplete combustion gives _____ gas.
A) CO B) CO2
C) N2 D) C.0;

91 . e # § wh=hs &1 SH-31 99 R WeeT exfarg? /

Which of the following groups of species show IR spectra?
A) CO, NO, O; B) Hz, Oz, N2
C) HCI, CO, NO D) NO, N2, NO;
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92 . fred & HiaR a8 = TR &t RAF Ffe TU 3
IRAF Ffe F IR T Tad HUF HT 997 B | /
The most common type of line defect within a crystal is a dislocation.
Choose the INCORRECT statement about line defect.

A) 3 SiTeTes faigaf ot dfdal o smaxl cawn ¥ safaant g1 /
These are irregularities from the ideal arrangement in the rows of lattice points.
B) Gl YR B! XA Ffe, NI Ty 3R Ua pi=r g1 /
Two types of line defects are substitutional dislocation and screw dislocation.
C) TS UYRT TP UHR B RGP Ff< ¢ Forad oadh & qUUT dd & 1Y TRATIS BT
U SHfafed e g Sfafdy forar St g1/ Edge dislocation is a type of line defect in
which an extra half plane of atoms is inserted along the slip plane in the lattice.
D) g erqaf # U U1 81l &, 3T S8 Yk U1g 1 goil A R fomuur o
1%111 3P Y=Y I BI W@?ﬁ%l / Alloys have screw dislocation, so they
require greater shear force for permanent deformation than pure metal.

93 . SATE It UHIRIHTT (R TR WIeHC) T 0N [aRayul § St Sardl &

B AU G/

Flame emission photometry is a qualitative analysis that measures of flame.
A) RUT / acceleration B) G| / velocity

@) 311?{%/ frequency D) X / colour

94 . ST o 6 PTeA URHTY B & o YD HIa GpRUT Ve fd HRAT B /

Benzene consists of 6 carbon atoms in which each carbon exhibits hybridization.
A) d’sp? B) sp°
C) sp? D) sp

95 . g P U FATEd AT 1 2.5 fharmd o | e wR fgor &1 sifaw aruwe 75°C iféa

fopam a1 afe arg ST AMIHT 100°C 3R STt BT dTgAT 20°C 8 oY 9T b GoTHT 1 0T
P

([e: 7a @t faRry S "rd 1cal/g/C 8, 3R 100°C WR Sd & arefievor & T
m540callg%)/

A certain amount of steam when mixed with 2.5 kg of water, the final temperature of the
mixture was observed 75°C. Calculate the mass of the steam if the temperature of the
steam is 100°C and of the water is 20°C.

(Note: specific heat capacity of water is 1cal/g/C, and latent heat of vaporization of
water at 100°C is 540cal/g)

A) TITHIT 175 UTH [ Approx 175 g B) SITHIT 423 UTH / Approx 423 g
C) TTHIT 243 UTH / Approx 243 ¢ D) 200 U™ /200 g
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96 . 505.4 fARfIH CaCO; ® W1 il & WA B UgdH BT /
Identify the number of significant figures in 505.4mg CaCOs

A) 3 B) 1
Q4 D) 2

97 . 3 fafmra aufcifReest o1 SuanT g % gugewsRor  fasan S Wb §: /

lon exchange chromatography can be used in the separation of:

A) SRPITH G-ﬁT%Tb—ﬁqu[/ Zirconium and Hafnium

B) WIReX 1% R 3R fSTH / Plaster of Paris and Gypsum
C) Uid 3R 3{YUTJ / Metal and Non-metal

D) qd 3R o / Oil and Water

98 . 9 & IUAIT gRT M SHfermd (UleUpEed) 1 el R o [T Yo Ugel Wanferd
Ufeha &1 IYANT fahdT T 4T / The unautomated procedure was used first to separate protein
oligomers (polypeptides) by use of:

A) B SR o / Sephadex gels
B) ®Idigal Sid / Colloidal gels

@) FHIe B’IE@T;\H/ Nanocomposite hydrogels
D) SRIoid / Xerogels

99 . e 3MTat 3MTTUde Péfes T Feidel Uried RIT b1 qorl § SR &= & 3 g g,
Safe T Uit enffas dep H_ giargl/

The electron density in a bonding molecular orbital is more in the internuclear region
than at the ends, while that in an antibonding molecular orbital is:

A) g 3R sfaries & o 1 ae R SIran §; RRY R sifereraw /
Low and falls to zero in the internuclear region; being maximum at the ends
B) R &t qa & Siavies & & sifian /
Maximum in the internuclear region than at the ends
C) SHRATHD & o Y- R W Wi g/
Zero in the internuclear region as well as at the ends
D) SITRATYS &= & FrY-J1y BRI IR i 31f¥s /

More in the internuclear region as well as at the ends

100 . Fofefad & ¥ HH-T1 FeeE e HIeeaIS &1 e 82 /

Which among the following carbohydrates is an example of ketohexose?

A) qI& h GWGD / Glucose B) 2& QIH] ({J,?ﬁTrl) / Sucrose
Q) ﬁ:ﬁTff/ Mannose D) ®d QH] WTTD / Fructose
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101 . Fufafed 7 @ oH-91 Uy sy gt 82 /

Which of the following is NOT a deformation process?
A) BITSITT / Forging B) FIShT I (UaIERM) / Extrusion
C) AT / Rolling D) ®Ieh (@) / Coking

102 . 98 W1 1 § foh 9 & SRUT Sfedbigd qa-19 AIaR SoaHT ald gISgidbia- Pt ga-T #
3 YIS UaRfd P &: /
It is seen that alcohol exhibits a higher boiling point than hydrocarbons of comparable
molar masses due to:

A) ST (GIR) §¢4 / Nuclear bonding
B) 3R 3M1Ug H-8EH / Intermolecular H - bonding

C) T Ve (yfFithTer) §e / Nucleophilic bonding

AN ON

D) 3dac Wl (3Aacithieidh) §E / Electrophilic bonding

103 . 3fBAT2NO + 0, — 2NO, & forg, anftaema g1/
For the reaction, 2NO + O, — 2NO, is the molecularity.
A) 2 B) 3
1 D)5

104 . FAufRad & I S19-91 HU T3feud-ueh &7 & folu JaiaH SIRsT a1 87 /

Which of the following statements explains the best for the Rideal Eley mechanism?

A) IR a1 T SN 310] 3R 1T =aR0r & T 310] & o1a Uap SHUfhar g1/

The catalytic act is a reaction between an adsorbed molecule and a molecule in the
gaseous phase.

B) SORS foha, &1 SHR=NT 3rujsft & aita e siffopan gl /

The catalytic act is a reaction between two adsorbed molecules.

C) SRS DI FdE W I 4] BT @RI /

Desorption of the gases produced at the catalyst's surface.

D) SHfUfehal, SAR® DI Tds IR ITH 51 aldl IcTal BT 3ifRIH G UIurdl 1t 5, Forad
g ¥ 37 IdTS] o1 fATRUT 1T 81 / The reaction creates a partial pressure gradient of
the products that are produced at the catalyst's surface, which leads to the diffusion of
these products from the surface.

105 . Sofi o ATgc=M H, Sifforamsita ol St Icrg o i o sififosar & dAread ¥ i
95l 8 8 g1/

In the nitration of benzene, the reactive species that proceeds through the reaction in
the formation of the product is

A) NO> B) NOs
C) N"O2 D) NO3
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106 . SgA®! (UITCTR) & SM10aH i & YR WR, Wl &I 59 YHR aviiepd (a1 1 8: /

Based on molecular forces of polymers, Phenolics are classified as:

A) AT RITG (QHRIE) dgd® / Thermosetting polymer
B) dIUgYe (Hﬁf‘f‘lﬁ@ / Thermoplastic

C) IR (WISSR) / Fibres

D) UATR[Ih (sw@mcf) / Elastomers

107 . QUTsA H n (UTS) &Y BIA B 1 /

Ethyne consists of 1 bonds.
A) 4 B) 2
Q)1 D)3

108 . TIeTd HY BT IU BT / Choose the INCORRECT statement.

A Rrdiftefere Siased faaaa & il faeme & sRu frifhle Bl sRewiies
PSS BI a1 H 3% RIFA G 51 /
Lyophilic colloids are more stable than hydrophobic colloids due to the extensive
solvation of lyophilic colloidal solution.

B) BTSS!t feres faera o) Rl Ui &= & fort fagga sruere @ sawaddr 61 ikl ] 1/
Hydrophilic sols do not require electrolytes to get stability.

C) ATgad UTa (SHRM) STei1d 3HeRM I 3ver 31fde Rufau el g1/

Oily emulsions are more viscous than aqueous emulsions.

D) UPTESIRH H The YA 81T 81 / Peptization involves coagulation.

109 . = dd & 5ol STIR (BIESIAEN HIgad SARb__ giaTgl/

Catalyst used in the hydrotreating of crude oil is
A) Ni-Mo B) Pt-Rh
C) Bi-Mo D) Cu-ZnO

110 . PCls U TAT TR Hema Fftfd 37 & T spid Toro1 § orar g ot fb g &
HHl @ R FERA 8 &/

PCls undergoes sp*d hybridization to form five equivalent hybrid orbitals which are
directed towards the corners of a:

A) By GRIfte @rs—a SRURIfTS) / Trigonal bipyramid

B) 3{FhaidId / Octahedral
C) TBR FHIAY / Square planar
D) fORIfEl / Pyramidal
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111 . Ig0aId ey & AR e @i Jeftas) & URUTHEREY Th Heaadl
3ififcha o1 fwivr gidT & forreT T 8 /
Homolytic cleavage of covalent bond results in the formation of a
reaction intermediate named:

A) Jad Ja® (! ASHd) / Free radical  B) BIAIYATE (@THbRM) / Carbocation

C) BIEEBUTIA (BTST) / Carbanion D) el / Proton

112, Ufe A B IR Figal § o €1 W A & 3rd-obret § gfg Bt B, Al peT o &
fop aif¥yfomar Hifc PT U B 81 /

If the half-life of A increases as the initial concentration of A decreases, the reaction is
said to follow:

A) UYH PHIfe / First order B) fgda ?Ife / Second order
@) ﬂ?ﬁﬂﬁ% / Third order D) Q]Eqﬁﬁ / Zero order

113 . 719 ¥ gfg & O THdae T (STSHI-3aac ) Uil &1 STHR gedl &: /

The size of the iso-electronic species decreases with an increase in:

A) TRHTY] AT / Atomic number

B) U 3MTARIl &1 TJT / Number of negative charges

C) BUMTHD TSI @Qﬂﬁ) CAR )| / Number of negative species
D) =TI BI TAJAT / Number of neutrons

114 . RieR iR faaem & 91y I=A1SS & S0 ¥ 3ifad fog R RieR sefcmass
Sfaaftd BT 8, o e 3 fe @ g off Webell 8: /
Titration of cyanides with silver nitrate solution produces silver argentocyanide
precipitates at the endpoint, which can be avoided by the addition of:

A) &nﬂﬁmﬁmq/ Ammonla solution
B) aifgan 6I$§Id<—l|$6 CEG! / Sodium hydroxide solution

Q) WWW/ Potassium hydroxide solution
D) CIRGH 317 faeTH / Boric acid solution

115 . AT 3t ufehan & Fufeiad & 3 foog fyeor o1 Suan fear Srar 82 /

Which among the following mixtures is used in the welding process?

A) RIS 3R :llséj oI+ / Oxygen and Nitrogen
B) 3fiaRitoiH 3R TfyfeiH / Oxygen and Acetylene

@) EIESIGH 3R TRy / Hydrogen and Acetylene
D) TS 3R CO,/ Oxygen and CO»
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116 . b oiarcrs 1 IUGNT Ha galagis o & | &Y a1 S Febell 7 /

Which electrode CANNOT be used as a reference electrode?

A) @13@3@3 / Au electrode
B) ﬁﬂﬁsﬁ?ﬁj—s’/ Calomel electrode
C) THUSE / SHE

D) R - Riear dﬂ\lil'ss sackg\ls / Silver - Silver Chloride electrode

117 . 98 pH IR &1 § o H ved &R 31 faf et o1 SuanT fosar St 82 /

What is the pH range in which strong basic anion exchangers are used?
A) 1-14 B) 1-9
C)1-6 D) 7-14

118 . FARIBIH 3R ol & fygyofia fyyor & gues oA &1 T 3t fafyr &/

The best method to separate the miscible mixture of chloroform and benzene is:

A) BTG / Chromatography B) febecaiianur / Crystallization

C) 3T™d- / Distillation D) Sedurd (ﬂ'@ﬂ'ﬂﬂ) / Sublimation
119 . forfdam s &R urgsft @ firs 8 Afp A B SMPR F SR SR/

Lithium differs from other alkali metals but resembles _ due to its smaller size.

A) fﬁiﬂﬁlﬂﬂ/ magnesium B) éﬁ?m/ barium

C)aﬁﬁlﬂﬁ/beryllium D)%@ﬂﬂﬂ/calcium

120 . BTG ISHIBRUI GRT - 316y aTel ST BISSIbTeH Dl fg-3M6t H SUFRId B & fow
SUGNT T S a7 SRS ©: /

The catalyst used to reduce unsaturated hydrocarbon with triple bond to double bond by
hydrogenation is:

A) TSTe{IdISd / Zeolites B) TIgT / Iron
C) RferT )R ERe / Tungsten on silica D) TfFSTR SAR® / Lindlar's Catalyst

121 . Fofafea o ¥ H19-91 &R 5 § ot fags 98t srar g2 /

Which among the following bases does NOT undergo complete dissociation in water?
A) NaOH B) Ca(OH):
C) Fe(OH)3 D) KOH
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122 . Ufehd gARE 3R AgNO, & did AIUSHAT ([Ffaeraith o) Hfairoe siffear &
R S a1 Bre-e A & aif B ugar S| /

Identify the class of organic compound formed during the nucleophilic substitution
reaction between alkyl halide and AgNO:

A) SHIAT / Ammonia B) MU 4TSS / Ammonium halide
O :lléélef - / Nitroarene D) ?I%Ejﬁﬁ'ﬂ/ Nitroalkane

123 . Ife TS T HAUT G (WIS BIHwN CH,0 § (a1 a1 8 n= 6), T TqHIS &
3fad Mg G &I Ugd bifere| /
If the empirical formula of glucose is CH,O (Given n=6), identify the proper
molecular formula of glucose.

A) CeH1206 B) CHO:
C) CHO D) C.HO

124 . 9 3R &9 M P HRUN (AP Tfaid dRaA B g1 /

Water and liquid ammonia are highly mobile liquids because of:
A) F9 =a=d1 / Low viscosity B) 3= YTl / High viscosity
@) ﬁn;r%ga GITE[UT/ Low dipole moment D) 9 Ui Areiahdl / Low thermal conductivity

125 . fAafefed o O foad Saar sgadiaur gl i /

Which of the following will NOT undergo chain polymerization?

A) W‘I@ﬁf/ Butyl acrylate B) XTI / Styrene
Q) 2- faArga urgdiE / 2- Vinyl pyridine D) qretei / Pyridine

126 . Al % 2 TRHTIST H Sl FaToh Saded Z g1 Z &1 A F1 87 /

Total valence electrons in 2 atoms of Al are Z. What is the value of Z?
A3 B) 1
06 D) 2

127 . dgpd At & fFfor o e & & for foram ues Rigia vRanfad foran fore eng
TRATI3T 7 <) e TR T Wasiohal gil 82 /

Who proposed a theory to explain the formation of complex compounds in which
metal atoms have two different types of valency?

A) 3FF8 TR / Alfred Werner B) ﬁ—w / Gay Lussac
C) AB-YRWBE / Bohr-Sommerfeld D) S STeed / John Dalton
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128 . CH, & HaTuTd G (TARerd wrden) 3R Irafdes 3ftged g 70 d1d Uh
DD AE F 3NTaw T &1 UgaH S| /

Identify the molecular formula of an organic compound with the empirical formula of
CH; and a relative molecular mass of 70.

A) CH B) CioH20

C) CsHqo D) CeHs

129 . URT A BT SO AT SR H &d g1, URT dcd & UTd-UTg SHTE=A & BRI g, Sl SUETHd
gIaTg: /
The element mercury being a liquid in its standard state is due to the metal-metal bonding in
mercury is relatively:

A) G&d / Poor

B) Yddl / Strong

C) 31Ul H=1 g3 (@t SUBIR) / Incompletely filled (all the subshells)
D) q:UfH: Raa miﬂm / Completely vacant (all the subshells)

130 . 3(Tad RN & TG IA BT [Iegd 4T 0T Li | Cs T Sedl § i Ie! fagyd
FHUTHDA g 5: /
The electropositive character of group IA of the periodic table increases from Li to Cs
while their electronegativities decrease:

A) Bﬁ[éh_qﬁ/ In the same order B) Cs T L doh / From Cs to Li
@) ﬁ'qﬂﬁﬂff/ In the reverse order D) Rb T Na dd / From Rb to Na

131 . B3 YUY dcd FEIRIT & HRUT SRUGHBRUMAAG (FAH-TIsH AR D) Dl s & /

Many transition elements form non-stoichiometric compounds due to:

A) BT Tt & ufacdf Taiierddr 3R i /
Variable valency and defects in solid structures

B) 3Tch! XIHIHRUMTAT (eTgfbaicl) §-TE - | fatherdr /
Fail to keep their stoichiometry

C) Tl TSl R SN TRA13T & Bl Y el g1 /

Single valency and no defects in solid structures

D) RR STUTd T g F’l’l‘léﬁe{/ Law of constant composition holds

132 . FofaRad & § fryeT SuahT TiudeR WaeRe T § faared & w0 § fear Siar g2 /

Which among the following is used as a solvent in NMR Spectroscopy?
A) CHCl3 B) Sl / Benzene
C) H20 D) CDCls
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133 . RUTUGE SGRNYUT H TRATY a1 & AT & fog Fafaiad & ¥ fog Suaor &1 vey
3ifY IuuNT fHar Sar 82 /

Which of the following devices is most commonly used for the formation of an atomic
vapour in atomic absorption?

A) %ﬂ'ﬁ?ﬂ'q 1Y / Electric arcs B) SdIciT U / Flame atomization
C) fee®1a Iuaul / Spluttering devices D) 1-@/ Ovens

134 . T@HN-Uftfes Ufohan §, Mn;0, &1 ITANT 44 & for fovam i &: /

In aluminothermic process, Mn30ys is used for:

A) 3UdI- / Reduction

B) &WUT/ Oxidation

@) HWWWH@TﬁQ@W/ Increasing oxidation number

D) JHIH 3 TRITH T BT SRy G 'Ef/ Maintaining the same oxidation number

135 . foplt 3 3 SARMNYUr S YHTT o1 foRivdT 39 UPR 8- /

The adsorption effect of an ion is characterised by the:
A) faHTSH T[UTich / Partition coefficient  B) fddRUT I[UTidb / Distribution coefficient
C) I TUIIh / Volume coefficient D) RITHdI T[0T / Viscosity coefficient

136 . 3P BIESIZSY BT (AT I del T i1 & S faggd Bomae
ERTFIRRA) T P & S a8/

lonic hydrides are formed by elements having electronegativity values between:
A)09 3R 12/09and 1.2 B)123R15/12and 15
0)2.18R23/21and23 D) 2.5 3iR 3.0/ 2.5 and 3.0

137 . FOfaRad smpsft & I 3SR Witk 310] &t Ugd™ Hiforg| /

|dentify the IR active molecule among the following molecules.
A) H> B) CO
O N2 D) O,

138.0.1N, CaCl, & 1dm? ¥ Ca®* STI DI el HRA & ol H* &0 H b= 7w g1 fafan
B AT BIeiT 82 (0.1N, CaCl, ¥ Wi fafHg el 4.5 mg AT ) /
How many grams of cation exchanger in the H* form is required to separate Ca** ions
from 1dm? of 0.1N CaCl,? (The static exchange capacity in 0.1N CaCl, is 4.5 mg equivale

A) 2238 g B) 222 g
0)37.1g D) 20 g
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139 . FofaRad & ¥ foy FaR! aOa T SIS S=dd 67 /

Which among the following chloro derivatives has the highest boiling point?

A) ?’:'I%Tﬁﬁﬂffa:f/ Dichloromethane B) FARMYT / Chloromethane
@) é@'ﬁf’hﬁﬁﬂq/ Tetrachloromethane D) E;I%H@ﬂﬁa:[ / Trichloromethane

140 . U/ 3UYY (F5MRe) d FHerdh! BT fAfld Soll ardl d B! & g H faure Heami g: /

Splitting of five degenerate d orbitals into sets of d orbitals having different energies is called:

A) forted & faured / Crystal field splitting

B) Gl'l'@'—é?ﬂ THIT / Jahn-Teller effect

@) @?I—\_rl'l_@'—éﬂ? YHId / Pseudo-Jahn-Teller effect
D) Gl'l’a’—%?l? fow=gur / Jahn-Teller distortion

141 . TG o1 fael oIt g 7 3 f5d ter 1 Wy A el 8 /

The kinetic energy of gases does NOT explain:

A) U3 & S b MBR DI o1 H 31feep g3l /
Large distances between molecules as compared to their sizes
B) T U ! GlAR & 1Y Udh TR UE ST URUMH g1 /
Pressure is the result of an elastic collision with the container’s wall
@) AT Td il T WREMTT / Conservation of momentum and energy
D) G{UJSﬁWWWWTﬁ‘T%W/ Movement of molecules in a straight line

142 . FfARad B § SH-I1 quidiRge! @HIHCITD]) THR ¢, s fRIR e & U6 JHivl od
¥ 3N ST § SR TfaiieT UTaw1 1 are 3 Sicid ST | Tir=iierar Bt 3rgHfa < St 82 /
Which among the following is the chromatography type, in which the stationary phase is
held in a narrow tube and the mobile phase is allowed to move through it under pressure?

A) T gufafaet (9 HIRSIUTDY) / Gas chromatography

B) BITS JUiafRae (AUR SHIHSIITHY) / Paper chromatography

C) WY FuiAfFd! (@1 HIFCUTHBY) / Column chromatography
D) gHdc g Jufafle! (@R HIHEUT®Y) / Planar chromatography

143 . M daur H AT o1 RuRor o &1 siuaer fafdy & daur o1 A9 & 319 79 &
3Ry & Ty HU= SR g /

The indirect method of determining ammonia in an ammonium salt involves boiling the
salt with a known excess of standard:

A) FeRRTd / Glycerol

B) TafRryd uRifes 3 faed / Glacial acetic acid solution
Q) P 3 faeaa / Boric acid solution

D) WifeaH gRIARS faad™ / Sodium hydroxide solution
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144 . pH 7 gfg T SNl e & gig Bt @ afe o & i 8 /

An increase on pH causes an increase in sorption capacity if an ion contains:
A) -COOH ¥Hg / -COOH group B) -NO. §¥Hg / -NO: group
C) -SOsH ¥Hg / -SOsH group D) -NH>¥Hg / -NHz group

145 . T% HAD B A TRITCH 3 3R AITSTH T ST 90 Aigal I e Th Iu
e JOR fbar| SwR fae T &1 pH A1 1 8? /
A graduate student prepared a buffer solution by mixing equal concentrations of acetic
acid and sodium acetate. What will be the pH of the buffer solution?

A) oKa -7 B) .Ka + 7
C) pKa D) 14 - ,Ka

146 . Fufafad 7 I SF-37 T-IRT A= &1 38 g? /

Which among the following is an example of ortho-para directors?
A) -NH, B) -CN
C) -CHO D) -NO2

147 . BT (U UishaT BT IUTNT 4 & e vfur & forw 18 fopar st gpar g: /

Carbon reduction process CANNOT be used for the extraction of:
A) &R 4131l / Alkali metals B) fe71/ Tin
C) AR / Chlorine D) M / Arsenic

148 . forddt 3ififeran & QUH Toe @t aRHTRIG v & forg, &) araml wR sifferar & o
fRRIGI BT e ud_ °c | i g1 =gl /

To define the temperature coefficient of a reaction, the ratio of the rate constants of a

reaction at two temperatures should differ by °C.
A2 B) 1
04 D) 10

149 . Igd® (UITerR) A™@-6 o a0 8, afefed o 9 ford teas @H) 1 IuRT fan
ST 87 /
In preparation for Polymer nylon 6, which of the following monomers is used?

A) SRR STSUHN 3R Ufsfie o / Hexamethylenediamine and adipic acid

B) FUddeH / Caprolactam
C) TAISHIA 3R XUAAS 31 / Glycol and terephthalic acid

D) TATgId 3R TS 31T / Glycol and adipic acid
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150 . FHfREd & @ $17 fcplgd I ™Il H e & It SRS & U H B Bl 87 /

Which one of the following acts as a catalyst in the conversion of alcohol to gasoline?

A) f&h e / Diphenylamine

B) foleiR-A1ET SAR® / Ziegler-Natta catalyst
Q) CEIRRE e@?EﬂETsr / Vanadium pentoxide
D) ﬁRﬂFﬂs‘c’ / Zeolites
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QUESTION BOOKLET SERIES | [ sussectcope | CLLO1

[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question

Booklet and the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.

4. This booklet contains 36 Pages. Please check for completeness of the Question
Booklet immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be
marked on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely,
corresponding to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read
such marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once
darkened cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet
will be provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be
disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator.
Use your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature

Page 36 of 37



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

Chemical Lab - Version D
Question No Answer keys Question No Answer keys Question No Answer keys
1 B 51 A 101 D
2 A 52 B 102 B
3 C 53 C 103 B
4 A 54 A 104 A
5 A 55 A 105 C
6 C 56 A 106 A
7 A 57 B 107 B
8 D 58 D 108 D
9 D 59 C 109 A
10 A 60 D 110 A
11 A 61 B 111 A
12 D 62 A 112 B
13 A 63 D 113 A
14 C 64 D 114 A
15 A 65 A 115 B
16 B 66 C 116 A
17 B 67 C 117 A
18 B 68 B 118 C
19 C 69 D 119 A
20 A 70 A 120 D
21 A 71 D 121 C
22 D 72 C 122 D
23 A 73 A 123 A
24 B 74 D 124 A
25 D 75 C 125 D
26 A 76 D 126 C
27 D 77 B 127 A
28 A 78 C 128 C
29 C 79 A 129 A
30 D 80 A 130 A
31 D 81 B 131 A
32 B 82 A 132 D
33 C 83 C 133 B
34 C 84 B 134 A
35 B 85 B 135 B
36 C 86 C 136 A
37 C 87 C 137 B
38 B 88 A 138 B
39 D 89 C 139 C
40 B 920 A 140 A
41 D 91 C 141 D
42 D 92 B 142 C
43 C 93 D 143 D
44 B 94 C 144 A
45 A 95 C 145 C
46 C 96 C 146 A
47 C 97 A 147 A
48 D 98 A 148 D
49 A 929 A 149 B
50 A 100 D 150 D
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